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\—j/ X Y z X y A B Cr a b c L a* b* C*tab a' b c OYLCVM_ONW_0
g O |CIE lluminant E (Sl
o g 1.4 357 0.0 0.6320.367 25.7 14.2 29.4 0.71 0.39 0.82 66.3 70.3 113.7 133.7 0.258 -0.0080.258 %O=JR 00575_770 g %
:Fo 83.1 86.7 1.5 0.4850.505 -3.5 34.0 34.2 -0.04 0.39 0.39 94.6 -6.6 140.9 141.1 0.212 -0.0220.213 %Y=J=JG+JR 01515 770 =
3.3 21.6 50.9 1.5 0.292 0.687 -29.3 19.7 35.3 -0.57 0.38 0.69 76.6 -99.1 110.4 148.3 0.161 -0.0260.164 %L=JG 02 515_575 o a
O@ [85 250 11.0 0.19 0.561 -16. 55 174 -0.66 0.22 0.69 57.1 -95.330.0 99.9 0.15 -0.0650.163 %Gs 03 0,35*)G+0,65*BG E’,(Q
&3' 1.4 11.0 16.2 0.049 0.385 -9.6 -2.0 9.8 -0.87 -0.18 0.89 39.7 -119.2 -13.0 119.9 0.108 -0.0970.146 %Cs=BG 04 475_515 on
S50 16.8 13.2 98.4 0.13 0.10335 -34.0 34.2 0.26 -2.57258 431 21.1 -96.999.2 0.233 -0.1680.287 %V=B=BR+BG 05 380_515 =R
= (154 2.1 822 0.1540.021 13.2 -32.0 34.6 6.09 -14.73 15.94 16.3 128.5 -131.5 183.9 0.413 -0.2890.505 %Ms=BR 06 380_475 =
Q 9‘ 55.0 31.0 115 30318239 7.8 252 0.77 025 081 625 71.1 38.0 80.7 0.26 -0.0610.268 %Rs 7 0,14*BR+0,86*JR =} o
So 61.4 35.7 0.0 .632 0.367 25.7 14.2 29.4 0.71 0.39 0.82 66.3 70.3 113.7 133.7 0.258 -0.0080.258 %0=JR 08 575_770 ®>
06 (01 01 01 0332033200 00 00 00 00 00 09 00 00 00 0.215 -0.0860.232 %NO( =0,001) 09 380_770 <
:'3 1100.0 100.0 100.0 0.3330.3330.0 0.0 0.0 00 00 0.0 100.0 00 00 00 0215 -0.0860.232 %W1( 1,000) 10 380_770 ag L
8=  |cIE Standard lluminant D65 =
-3 [54.8 323 0.0 0.6280.37 24.1 14.0 27.9 0.74 043 0.86 63.6 73.0 109.1 131.3 0.249 -0.0080.249 %O0=JR 00 575_770 =9
zg 76.8 85.2 1.6 0.469 0.52 -4.1 36.4 36.7 -0.04 0.42 0.43 94.0 -8.2 140.2 140.5 0.202 -0.0220.203 %Y=J=JG+JR 01 515_770 o 8
S = [220529 16 02880.69 -28.2 22.4 36.0 -0.530.42 0.68 77.8 -97.1112.7 148.8 0.156 -0.0260.158 %L=JG 02 515 _575 RRe)
< = [87 264 125 0.1830.554 -16.3 6.5 17.6 -0.610.24 0.66 5 -95.0 31.2 100.0 0.144 -0.0650.158 %Gs 03 0,35]G+0,65*BG o=
\g 1.6 12.2 18.3 0.05 0.379 -10.0 -2.0 10.2 -0.81 -0.16 0.83 41.5 -119.5 -11.2 120.0 0.106 -0.0950.143 %Cs=BG 04 475_515 3
o [181 14.7 107.2 0.129 0.105 4.1 -36.4 36.7 0.28 -2.47 249 45.2 239 -93.396.4 0.224 -0.1620.277 % =BR+BG 05 380_515 Qm
B 116.5 2.4 88.8 0.153 0.023 14.1 -34.4 37.2 5.7 -13.87 15.0 17.8 133.2 -128.5 185.1 0.393 -0.2760.48 %Ms=BR 06 380_475 So
< 3 [49.4 28.1 12.4 0.549 0.31222.7 7.2 23.8 08 0.25 0.84 .0 74.5 9 81.8 0.252 -0.0630.26 %Rs 07 0,14*BR+0,86*JR @ Q
o @ 54.8 32.3 0.0 0.628 0.37 24.1 14.0 27.9 0.74 0.43 0.86 63.6 73.0 109.1 131.3 0.249 -0.0080.249 %0O=JR 08 575_770 o
o (00 01 01 0311032700 00 00 00 00 00 09 00 00 00 0.205 -0.0860.223 %NO( B=0,001) 09 380_770 % m
o9 95.0 100.0 108.8 0.3120.3290.0 0.0 0.0 0.0 0.0 0.0 1000 00 00 00 0205 -0.0860.223 %W1( =1,000) 10 380_770 = %
% 3 |CIE iluminant D50 g n
2 X 1609 354 0.0 0.6320.367 26.8 11.6 29.2 0.75 0.32 0.82 66.0 75.4 113.1135.9 0.275 -0.0090.275 %0O=JR 00575_770 22
[=3] 82.9 87.3 1.5 0.4820.508 -1.2 28.1 28.2 -0.010.32 0.32 94.8 -2.3 137.9 137.9 0.225 -0.0230.227 %Y=J=JG+JR 01 515_770 =1 4
@ % 22.0 51.9 1.5 0.291 0.688 -28.0 16.5 32.5 -0.54 0.31 0.6: -96.2 107.9 144.6 0.172 -0.0280.174 %L=JG 02 515_575 Il
Q = 8.5 25.1 10.6 0.193 0.566 -15.6 40 16.1 -0.620.16 0.64 57.2 -92.325.2 957 0.16 -0.0680.174 %Gs 03 0,35*JG+0,65*BG o+
=0 1.3 10.7 155 0.049 0.388 -9.0 -2.6 9.3 -0.83 -0.24 0.87 39.1 -117.0 -19.5 118.6 0.115 -0.1030.155 %Cs=BG 04 475_515 - >
= (134 126 809 0.1250.1181.2 -28.1 28.2 0.09 -222222 422 81 -98.398.6 0.234 -0.17 0.289 %V=B=BR+BG 05 380_515 =
T@ [120 1.9 653 52 0.024 10.. 27.5 535 -13.35 14.38 15.0 116.5 -131.1 175.8 0.424 -0.2980.519 %Ms=BR 06 380_475 =
<3 [54.1 307 9. 5 26 24.5 021 0.82 622 75.0 38.7 84.4 0.277 -0.0610.284 %Rs 07 0,14*BR+0,86*JR 0 v
Df—: 60.9 35.4 0.32 0.82 66.0 75.4 113.1 135.9 0.275 -0.0090.275 %0=JR 08 575_770 =0
wM (0.0 0. 00 00 09 00 00 00 0.226 -0.0860.242 %NO( B=0,001) 09 380_770 o
o % 96.4 100. 00 00 0.0 100.0 00 00 00 0.226 -0.0860.242 %W1( =1,000) 10 380_770 -
'; S [CIE Standard lluminant A 3
Om [835 467 0.0 064 0358321 6.6 32.8 0.68 0.4 07 740 682 12551429 0.368 -0.0120.369 %0=JR _ 00575 770 S
> [1043 92512 0526046727 126 12.9 002 0.13 014 97.0 42 130.1130.2 0.316 -0.0280.317 %Y=J=JG+JR 01515_770 =
&SN [20.8 458 1.1 0.307 0.675 -29.4 6.0 30.0 -0.640.13 065 73.4 -97.990.3 133.20.233 -0.0350.236 %L=JG 02515 575 Q —
~ g 7.7 20.3 59 0.228 0.597 -14.5 05 145 -0.71002 071 522 -87.275 875 0.22 -0.08 0.234 %Gs 03 0,35*)JG+0,65*BG wC
az 0.7 6.6 85 0.0450.418-65 -2.4 7.0 -0.99 -0.37 1.05 30.9 -108.0 -43.1 116.3 0.144 -0.1320.195 %Cs: 04 475_515 <
TH 5.4 7.4 343 0.1150.157 -2.7 -12.6 129 -0.36 -1.7 1.74 32.7 -26.3 -113.6 116.6 0.274 -0.2020.341 % R+BG 05380_515 %)
-.._{ |47 0.8 258 0.1510.0253.8 -10.2 10.9 4.81 -12.75 136372 752 -139.7 158.7 0.549 -0.3870.672 %Ms=BR 06 380_475 [0} 3
E < 72.4 40.3 3.6 0.6220.346 28.1 42 285 0.69 0.1 07 69.7 659 540 852 0.369 -0.0540.373 %Rs 07 0,14*BR+0,86*JR 3 E’.
o3 83.5 46.7 0.0 0.64 0.35832.1 6.6 32.8 0.68 0.14 0.7 74.0 68.2 1255 142.9 0.368 -0.0120.369 %0O=JR 08 575_770 n 2
3. [01 00 00 0445040500 00 0.0 00 00 00 . 0.0 00 0.313 -0.0860.325 %NO( B=0,001) 09 380_770 >
E'U 109.8 99.9 355 0.447 0.40700 00 0.0 00 0.0 0.0 1000 00 00 00 0313 -0.0860.325 %W1( =1,000) 10 380_770 =
2
=W Q
= A =[(XI%)=(YIY)IY=[a-a]Y B =-04[(Z/Z)~-(Y/¥)IY=-04[b-bJY a=X/Y=x/y b= -04z/Y=-04z/y (X Y,220,89) 8
a* =500 [ (X/ %)~ (Y1 9™ b*=200[ (Y /"= (212" a = (10%)2 (x/y)® b =-04(12,)"(z1y" i
=500 @ -a,) Y =500 (' - b)) Y* =0,2101 & /y)*® =-0,08376 ¢/ y)"°® CIELAB for n=D65 | 8. ¢

%TUB»[QSI chart JE62; CIE data of optimal colours input:w setgray
For illuminants E, D65, D50, and A: RGB*=575, 515, 475nnoutput: no change compared to i
< ) v s T
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